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1.An electrocardiogram is a graphic illustration
of :

a. Cardiac conduction system
b. Cardiac cycle
¢. Cardiac output

d. Systemic and pulmonary circuits

2.The correct route through which pulse-making
impulse travels in the heart is:

a. AV-node —» bundle of His —» SA node —»
Purkinje fibers —» heart muscles

b. AV-node —» SA node —» Purkinje fibers —»
bundle of His —» heart muscles

¢. SA node —» Purkinje fibers —» bundie of His
—» AV-node —» heart muscles

d. SA node —» AV-node —» bundle of His —»
Purkinje fibers —» heart muscles

3.What view of the heart do leads |, aVL, V5 and
V6 represent?

a. Inferior
b. Lateral
c. Anterior

d. Septal

4What is the size of one smali box?
a.2mma2

b. 1.5 mm2

¢. 1mm2

d. 2 mm2

5. Horizontally, each unit represents how many
seconds:

a. 0.04 sec
b. 0.05 sec
¢. 0.06 sec
d. 0.03 sec

6. Leads I, It and Hll can be represented
schematically in terms of a triangle called as:

a. Wintrove’s triangle
b. Heathrow’s triangle
c. Virchow’s triangle

d. Einthoven’s triangle

7. What is the standard calibration in an ECG:
a.lmV=8mm

b.ImV=6mm

¢.ImvV=10mm

d1mV=12mm

8. Which of the following are Bipolar leads:
a.aVR,aVl and aVvF

b.V1,V2and V3

c. |, ltand i

d. v4, V5 and V6



9. In normal ECG the paper speed is:
a. 50 mm/sec

b. 25 mm/sec

¢. 50 mm/ min

d. 25 mm/min

10. Lead V2 is placed over
intercostal space in left sternal margin:

a. 5th
b. 4th
c. 2nd

d. 3rd

11. What is the name of machine used for
recording continuous ECG in an ambulatory
patient:

a. Defibrillator
b. Holter
¢. Ambulatory BP monitor

d. None of the above.

12. Counting the number of QRS Complexes,
which of the following can be interpreted?

a. Heart rate
b. Cardiac output
c. Stroke volume

d. Breathing rate

13. Which of the following is the Pacemaker of
the heart:

a. AV node
b. Right atrium
¢. SA node

d. Purkinje fibers

14. P wave represents which of the following:
a. Atrial contraction

b. Atrial relaxation

¢. Ventricular contraction

d. Ventricular Relaxation

15. QRS complex indicates:
a. Atrial contraction

b. Atrial relaxation

¢. Ventricular relaxation

d. Ventricular Contraction

16. Normal heart rate of an adult is:
a. 50-100 bpm

b. 40-80 bpm

¢. 60-100 bpm

d. 70-100 bpm



17. How many small squares are present
between two heavy lines on ECG paper:

a.5
b. 4
c.3
d. 6

18. T Wave in an ECG represents:
a. Atrial diastole

b. Atrial systole

¢. Ventricular diastole

d. Joint diastole

19. Disturbance in cardiac rhythm is called as:
a. Arrhythmia

b. Seizure

c. Syncope

d. Tachycardia

20. Which of the following represent Inferior
leads:

a.Vl,Vv2and V3
b. V4, V5 and V6
c. li, Hl, and aVF

d.l, aVL and V6

21. Name the correct placement of V5:

A. 4th left intercostal space

B. 4th right intercostal space

C. 5th left intercostal space anterior axillary line

D. 5th left intercostal space mid axillary line

22. Defibrillator is used for all of the following
except:

a. Delivering shock
b. Rhythm monitoring
c¢. Pacing

d. Respiration

23. Which of the following are augmented
leads:

al, 1
b. V2,V3,v4
¢. AVR,AVL,AVF

d. V4,V5V6

24. What is the site for placement of 2 pads in
Automated external defibrillator :

a. Directly below right and left collar bone

b. Directly below right collar bone and below
right nippie

c. Below right and left nipple

d. Directly below right collar bone and to the
side of left nipple



25. Disinfection of ECG machines is done with
which of the following:

a. Soap Water
b. Dry cloth
¢. 70 % Alcohol wipes

d. None of the above

26. How many leads are present in standard
ECG:

a. 12 leads
b. 7 leads
c. 8 leads

d. 6 leads

27. How will you identify limb lead reversal right
and left arm on ECG:

a. Negative P wave with negative QRS complex
inlead 1

b. Negative P wave with normal QRS complex in
lead 1

c. Positive P wave with negative QRS complex in
lead 1

d. None of the above

28. Where should you place AED pads on an
infant victim?

a. One under left arm pit and one high on the
right side of the chest

b. One under the right arm and one high on left
side of chest

¢. One under each arm pit

d. One in the center of the back and one over
the center of chest ‘

29. Lead | records difference in voltage between
and :

a. Right arm and left leg
b. Left arm and right arm
c. Right arm and Left arm

d. Left leg and left arm

30. If AED is to be used and victim is in water,
what steps are to be done before giving shock:

a. Pull the victim out of water
b. Wipe the water off the chest
c. Don’t use AED in water

d. All of the above

31. If there were 3 large squares in an R-R
interval what would the heart rate be ?

a. 100 bpm
b. 70 bpm
¢. 90 bpm

d. 80 bpm

32. ECG report must consist of following
information:

a. Rhythm, cardiac axis
b. Conduction interval

c. Description of the ST segments, QRS
complexes and T waves

d. All of the above



33. The characteristic of normal sinus rhythm
include all of the following except:

a. Rate 60-100 bpm
b. Regular Rhythm
c¢. Consistent P wave before every QRS complex

d. QRS complex 0.4 - 0.8 sec

34. What segment, if elevated or depressed,
reveals a sign of serious pathology?

a. ST
b. PR
¢. R-R

d.Qr

35. Full form of CAD is?

a. Carotid artery disease

b. Coronary angina disease
c. Coronary artery disease

d. Coronary artery disorder

36. A cardiac Rhythm that originates.from SA
node is called as:

a. Atrial rhythm
b. Sinus Rhythm
¢. Supraventricular rhythm

d. Ventricular Rhythm

37.In a normal person, from V1 to V6 which
wave shows gradual increase in amplitude:

a. g Wave
b. P wave
c. S wave

d. R wave

38. The 6 limb leads lie in which plane:
a. Transverse plane

b. Frontal plane

C. Both of these

d. None of these

39. If leads V1 to V6 are imagined to be the
spokes of a wheel, then the centre of the wheel
is:

a. AV node
b. SA node
c. Left Ventricle

d. His bundle

40. Who invented ECG:
a. William Einthoven
b. Ampere

c¢. Darwin

d. Newton

|



41. Lead Hll obtained by connecting and

a. Right arm and left arm
b. Right leg and left leg
¢. Right arm and left leg

d. Left arm and left leg

42. The device used to obtain and display the
conventional ECG is called as:

a. Electrocardiogram
b. Electrocardiograph
c. Electrodes

d. Leads

43. The positive electrode when recording lead
avlonan EKG is: :

a. Leftarm

b. Left leg

c. Right leg

d. Left arm + Left leg

44. Which amongst the following are right sided
leads:

a.avR-v1
b. Il —avF
c. V5-V6

d.v2-v3

45. The classic ECG changes in myocardial
infarction are:

a. ST segment elevation
b. T wave inversion
¢. Development of abnormal Q wave

d. All of the above

46. Name the placement for V4

a. 5th intercostal space, anterior axillary line
b. 5th intercostal space, midclavicular line

¢. 5th intercostal space, midaxillary line

d. None of the above

47. Lead RV4 is obtained by?

a. Placing V4 electrode in right 5th ICS in mid
clavicular line

b. Placing V4 electrode in left 5th ICS in mid
clavicular line

¢. Placing V4 electrode in right 5th ICS in mid
axillary line line

d. Placing V4 electrode in right 5th ICS in
anterior axillary line

48. What view of the heart does VI-V4 give?
a. Anterior

b. Posterior

c. Lateral

d. Exterior



49, Leads V1 and V2 represent which of the
following views of the heart:

a. Septal
b. Inferior
c. Anterior

d. Lateral

50. Right Ventricular infarction is diagnosed in
which leads:

a.rv3-rv4
b. 1, Hl aVF
c.V3-v4

d. v5-v6
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